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1103[ A 35 BmE 43 430 0 430 10 0 0 0 2376 0 1188
& 43 430 0 430
NB|FEFEAS |BRES 20 200 0 200 10 0 0 0 0 1944 0
& 26 260 0 260
1141[54R BmE 12 60 0 60 5 0 0 0 3240 0 2160
S 2 20 0 20 10 0 0 0 1944 0 1728
GhH 14 80 0 80
12018 TRk 50 750 0 750 15 0 0 0 3240 0 3024
EE 2930 2930 0 2930 1 0 0 0 0 72 0
& 2980 3680 0 3680
1203[F ¥Ry [EH 50 500 0 500 10 0 0 0 2808 0 1512
& 150 2000 0 2000
1205[[F>NAE [EE 691 276 276 0 0.4 216 0 124 0 0 0
S 5 20 0 20 4 0 0 0 0 2592 0
13 600 120 0 120 0.2 0 0 0 0 119 0
[E)) 1296 416 276 140
1207| B & RE 680 68 68 0 0.1 108 0 103 0 0 0
Eh 680 68 68 0
1209| B & B 4 12 0 12 3 0 0 0 0 1728 0
[E)) 9 27 0 27
1223|&EH RE 420 126 126 0 0.3 140 0 86 0 0 0
(&) 420 126 126 0
1301 |HF ] 13 26 0 26 2 0 0 0 0 1296 0
=H 2000 600 0 600 0.3 0 0 0 157 0 140
= E 28 140 0 140 5 0 0 0 0 2700 0
Eh 2041 766 0 766
1311[FF S 45 180 0 180 4 0 0 0 1242 0 1134
Eh 45 180 0 180
1321 |81 ] 50 250 0 250 5 0 0 0 2916 0 2700
=H 72 360 0 360 5 0 0 0 3024 0 2700
=i 20 100 0 100 5 0 0 0 0 2916 0
Eh 192 960 0 960
1331 | MM FEH» (&) 20 200 0 200
1351[E—<> |55 420 63 0 63 0.15 0 0 0 119 0 113
=0 15 68 0 68 45 0 0 0 0 3996 0
[E)) 455 211 0 211
1353| Tk =5 60 6 0 6 0.1 0 0 0 0 173 0
Eh 60 6 0 6
1501 [HE =) 50 250 0 250 5 0 0 0 1404 0 648
Eh 50 250 0 250
1521 |83 ZiE 3 30 0 30 10 0 0 0 0 5724 0
Eh 3 30 0 30
1541 | E& dLiEE 30 300 0 300 10 0 0 0 0 2700 0
dbiEE 361 7220 0 7220 20 0 0 0 3240 0 2160
(&) 391 7520 0 7520
1603[ L) —  [EE 5 50 0 50 10 0 0 0 3888 0 3240
(&) 5 50 0 50
1609[Javay  [&J 40 240 0 240 6 0 0 0 4752 0 4104
(&) 40 240 0 240
1611[LAR EE 1 10 0 10 10 0 0 0 0 3780 0
(&) 1 10 0 10
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1627[2=F=F  [&EJI 120 24 0 24 0.2 0 0 0 0 178 0
S 45 135 0 135 3 0 0 0 2268 0 2160
(&) 237 173 0 173
1705| L= fa 360 29 0 29 0.08 0 0 0 0 108 0
= E 3 12 0 12 4 0 0 0 0 5616 0
& 371 73 0 73
1803 | EHEE =) 150 15 0 15 0.1 0 0 0 0 141 0
& 150 30 0 30 0.2 0 0 0 260 0 66
GhH 1020 117 0 117
1807|#8E =% 150 15 0 15 0.1 0 0 0 0 53 0
f=554 3000 600 0 600 0.2 0 0 0 0 76 0
& 3150 615 0 615
1809[L&L EH 500 50 0 50 0.1 0 0 0 69 0 67
E& 300 60 0 60 0.2 0 0 0 0 102 0
GhH 800 110 0 110
* S FHET * 27997 34973 941 34032
2105| @A N A | FIFRIL 78 780 0 780 10 0 0 0 6480 0 3564
) 78 780 0 780
2113| R h (&) 62 570 0 570
2121 T4 BiE 25 25 0 25 1 0 0 0 4428 0 3996
BiE 23 230 0 230 10 0 0 0 0 2700 0
Eh 48 255 0 255
2139|TaR> L 18 90 0 90 5 0 0 0 0 3888 0
el 25 250 0 250 10 0 0 0 0 3888 0
(&) 43 340 0 340
2221[E+ & 25 250 0 250 10 0 0 0 5292 0 4104
(&) 25 250 0 250
2701|7—JLR &% 1 9 0 9 9 0 0 0 0 16524 0
= E 3 21 0 21 7 0 0 0 0 4320 0
=H 8 64 0 64 8 0 0 0 0 4320 0
=3 3 27 0 27 9 0 0 0 0 4320 0
[E)) 15 121 0 121
2811|& EE 20 5 0 5 0.25 0 0 0 0 518 0
= 100 25 0 25 0.25 0 0 0 0 702 0
& if] 10 3 0 3 0.25 0 0 0 0 821 0
EiE 40 10 0 10 0.25 0 0 0 0 648 0
(&) 230 58 0 58
2823|%—o«  |F0FRL 10 100 0 100 10 0 0 0 0 7020 0
(&) 40 400 0 400
* S FEET * 930 4662 0 4662




